l. OO

000 30 (-1,1-2,1-18)0000000.
-1

n000 10000
Ax = c,

goooboobobbo,00bubobt 00 k00O 20, 0000000

_ detD,

~ detA’ Dy = (a1, a2, -+, ap-1,¢,Qpp1," - Qy)

Tk

O0000.000 ¢, 000 ADOD kDODODODODODOnODO0OOOO
ggb.gbbobooggoboobod.

OO0 10301000000

T+ T+ T3 = 1
3!131 + 8[[’2 + 4[L‘3 =0 (I‘l'l)
4$1+I2—|—21’3:3

00 21,70,2; 0000000000

- detD1 o detDQ . deth
T detp? T deth’ 7 detD

OoDo0O00.0oo0 boOd(@-1-1)000oobo0oO0.00boogd Dy, Dy, Dy
gooo.

(I-1-2)

00200 (-1-2)000000,0 (F11-1)00 21,20,2; 0000 0.



-2

00000o0O000U000dd f)ooooooo.pOO0O0DODOODDDODOO,O
gobbobod z:000ooo

fim £ F hf)L — ) (1-2-3)

h—0

OA000000000000000O, f(ep)ODDODODO0O0OCCO.O00D0ODO0O0OOO
goooo.

00 10 f()=22000.0000 h=r0000 (-2-3)00000000.0
00 r-000000.

0020 f(z) =2"000.0000h=re? 0000 (-2-3)0000000,
f(z)=-,"0000000000000.000 rA000,i000000
oQ.



-3

yO0 2000 (y=y(z))00,00000000 ¢, 000000y 000.00
ooooo0oooog.

OO0 10o00o00d

22y’ + axy' + by = F(x)

0000,z= 00000000 200¢t000000,00000000
0000000000000 000000.000,6,b000,F(x)0 0O
goooo.

OO0 2000 1000000000000 0O0,DOD00DO000D0O0O0O0DOODO
go.

2%y’ —dzy +6y =0



